BEPIRIILX—HEMRESHNTE RHEFHEH REX

FHH
I X 4

Al % 7 Bh |BEERIA~)
~ 300m i - 18,000
300m ~ 1000m ki 25,000 25,000
= %1 1000 ~ 2000m % iE 35,000 35,000
{I:E*?:ﬁf%i] 2000m_~ _5000m % 87,000 89.000
T ‘ 5000~ 10000m k& 130,000 130,000
10000m ~ 25000m k& 160,000 160,000
25000 ~ 200,000 200,000
~ 300m ki - 21,000
300m ~ 1000mki# 29,000 29,000
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%$%$§ri%£] 2000m ~ 5000m ki 94,000 95,000
= g 5000~ 10000m k& 130,000 140,000
10000m ~ 25000m k& 170,000 170,000
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HEE ~ 300mkiE - 82,000
300m ~ 1000m*kiE 100,000 100,000
= R 1000m ~ 2000m k& 130,000 130,000
I[i,fgﬁiﬁé? 2000m ~ 5000m i 210,000 220,000
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10000 ~ 25000m k& 340,000 340,000
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~ 300m*kid - 210,000
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s . 1000m ~ 2000m k& 330,000 340,000
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8 ! 5000 ~ 10000m k& 590,000 600,000
10000m ~ 25000m k& 700,000 710,000
25000 ~ 800,000 810,000
s s ~ 200m kK& - 32,000
;ﬁ HERERE 200m ~ = 36,000
BT e e < ~ 200mzkiE - 24,000
@ii BEFR 200m ~ B 26,000
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H*E = 300m ~ 2000m%kiE - 80,000
FE ! 2000m ~ 5000m ki - 140,000
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~ 300mkiE - =

; 300~ 2000mi ik - -

tHHREE 2000m ~ 5000m ki - =

5000 ~ B

KEERFEFTERIERIIAGBEVNOERL. %h‘?hw‘é‘ﬂﬁa)ﬂiﬁiﬁwﬁﬁ’rI:ié%ﬁﬂéﬁgbﬁﬂlﬂ'éo

MXOHBEYIERMEENERHRET D,



